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NIAIWITUULITARIN

TUPBUN 1 2 < x < 8, i) =  FFIFA Ry(x))
x, = 1,2,3
X
2 3 4 5 6 7 8
Xy
1 0.7 0.7 0.7 0.7 0.7 0.7 0.7
2 . 0.91 0.91 0.91 0.91 0.91
3 0.973 0.973 0.973
fi(x) 0.7 0.7 0.91 0.91 0.973* 0.973 0.973
d,(x) 1 1 2 2 3 3 3
Theaaw 2 3 < x <9
L) = AFIFa [Ryx) fix—x)| (7 e = 1)
Xy = 1,2,3
3I<x<9
1!
X3
1 2 3 f,(x) | da(x)
X
3 {.6).n = .42 42 1
4 {(.6)(.7) = .42 [(84)(.T - 588 42 i
5 K.6)(.91) = .546 |(.84)(.7) = .588 [(.936)(.7) = 6552 6552 3
6 §.6)(.91) = .546](.84)(.91) = .7644(.936).7) = 6552 .7644 | 2
7 K.6)(.973) = .5838 (.84)(.91) = .7644((.936)(.91) = .85176 .85176| 3
8 [(.6)(.973) = .5838|(.84)(.973) = .81732|(.936)(.91) = .85176 .85176] 3
9 [.6)(.973) = .5838|(.84)(.973) = .81732|(.936)(.973) =.91073*.91073% 3
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